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3 n C e Y iven a differential equation of the form: M(x,y)+ N(x,y)y’ =0
L n k( (Ve & l S o onve € N oa 1. Verify that the equation is exact by checking that M, = N,.
2. Integrate M with respect to x to obtain F(x,y). Treaty as a constant. Don't forget to add a

“constant” term (y) .
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E)( . \3\ - C_ ) - ) »x j ) \j 63 3. Take the partial derivative F, and set it equal to N, solve for ¢'(y).
—

4. Integrate ¢'(y) to find ¢(y)
5. The general solution to the differential equation is given implicitly by: F(x,y)=c.
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1. Verify that m equa xact by checking that rv_‘. I, CLf "

2. Integrate M with respect to x to obtain F(x,y). Treat y as a constant. Don't forget to add a ?

“constant” term (y). A 0es M A/

3. Take the partial derivative F, and set it equal to N, solve for ¢'(y). 3 =

4. Integrate ¢'(v) to find g(y)

5. The general solution to the differential equation is given implicitly by: F(x,y)=c. \: S 0 &g f
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